BFTHEERE MRS (20195F8A 5)

ERE ST HERER T4 RER. RIBEE
T4IAERE (Oor x) e s
- AN #REE [ Sv/h] RE(°C) [R5 AN —Rb— TLIVARMEE (B
Ne. . RE |5 7R Lrivince | RS | (28] Oaim@EEABGELE W%
BE 7 o Pap— B8 @MMIEEA—N R~
o« =058 7R EEE as =3
(Oorx) %1 at 1m BG Ro7 X2 BG TERAT ARk JL HEPA |Fva—L

1 Eix o 4— KT | EHERT)T @] 0.4 0.4 0.4 24.6 23.3 239 (@) (@) 2019.8.15 — — — —

2 BB A— KB |RRIBERTIVT @] 0.5 0.5 0.6 25.3 26.6 271 (@) (@) 2019.8.15 — — — —

3 BB A— KB |RRIBERTIVT @] 0.4 0.5 0.7 26.6 26.4 26.3 (@) (@) 2019.8.15 — — — —

4 Bkt 4—IKEERT |[RRUEBERTUT @] 0.7 0.7 0.5 26.3 28.8 254 (@) (@) 2019.8.15 — — — —

HIED AfFLEF
5 Bkt 4— KRBT | EHERT)T — 0.5 0.5 0.5 — — — — — 2019.8.15 — — — -
YRR RITIRE

6 B8kt A—KEFT | ROV—=25 1T @] 0.5 0.5 0.5 23.9 239 22.4 (@) (@) 2019.8.15 — — — —

7 Eixt54—KERT |HATUT @] 0.6 0.6 0.6 214 21.7 21.8 (@) (@) 2019.8.15 — — — —

8 Bt —KERT |BUEE — — — — — — — — — — — — — — BWEFH
9 Bt — KB (A7 — — — — — — — — — — — — — — BWEFH
10 |E&kt4—KEERT |HXATUT @] 0.4 0.4 04 259 242 26.6 (@) (@) 2019.8.15 — — — —

11 Bkt 4—KERT |HXATUT — 0.5 0.5 0.5 — — — — — 2019.8.15 — — — {E1keh
12 (Bt 2— KR (B ABEEEWRER — — — — — — — — — — — — — — 8/10¥ %=
13 | Efkt2—KEEPT |20 XAIU7 o] 0.4 0.4 04 275 28.9 271 (@) O 2019.8.15 — — — —

14 | B8kt 5—KERT |20 XAIU7 o] 0.9 0.9 1.0 29.6 28.1 29.6 (@) O 2019.8.15 — — — —

15 | Efkt4—IKEEFT |2k XAIU7 — 0.6 0.6 0.6 — — —_ — — — — — — {=1keh

%1 R EEOMVIRE,

2 avtEURe, BIRSA

HoUI-2E% B LAED A0 ST RIEE






